


Description
Tumor necrosis factor α (TNF-α) is a multifunctional cytokine. It is mainly produced and secreted by activated 
macrophages and monocytes, which can directly kill tumor cells without obvious toxicity to normal cells. TNF-α also 
has a variety of immune regulatory effects. As a kind of endogenous pyrogen, TNF-α can induce fever, cell death, evil 
qualitative, inflammation and inhibit tumor occurring and virus replication, and respond to sepsis by producing IL-1 
and IL-6 in cells. The expression disorders of TNF-α are related to a variety of diseases, such as infection, 
autoimmune disease, cancer, atherosclerosis, Alzheimer's disease, inflammatory bowel disease, and intervertebral disc 
degeneration, etc.
This kit uses Sandwich Enzyme-Linked Immunosorbent Assay (ELISA) to measure the amount of TNF-α in human 
serum, plasma, and cell culture supernatant. The ELISA microplate in the kit is precoated with a high-affinity 
anti-human TNF-α antibody. The standard or test sample is added to the microplate wells. After incubation, TNF-α 
present in the sample will be bound specifically to the precoated antibody on the microplate wells. After washing, 
biotin-labeled anti-human TNF-α detection antibody is added to the microplate wells. After re-incubation, the 
detection antibody will be bound specifically to TNF-α anchored on the microplate wells. Subsequently, the 
horseradish peroxidase-labeled streptavidin (Streptavidin-HRP) is added to the microplate wells and incubated. Biotin 
and streptavidin on the detection antibody produces the "coated antibody-human TNF-α protein-detection 
antibody-Streptavidin-HRP" immune complex through high-strength non-covalent binding. After washing again, the 
chromogenic substrate TMB is added to the wells. HRP catalyzes the TMB substrate to create blue coloration, with 
intensity positively correlated with the concentration of TNF-α in the sample. The reaction is stopped by adding stop 
solution, and the absorbance is measured at 450 nm (reference wavelength 570-630 nm). A standard curve is drawn to 
calculate the concentration of TNF-α in the sample based on the absorbance value. This kit is highly specific, has high 
detection sensitivity and is convenient to use.

Suitable Sample Types
Cell culture supernates, serum, plasma, etc.









Notes: A1/A2: 100 μl 500 pg/ml Standard
B1/B2: 100 μl 250 pg/ml Standard
C1/C2: 100 μl 125 pg/ml Standard
D1/D2: 100 μl 62.5 pg/ml Standard
E1/E2: 100 μl 31.25 pg/ml Standard
F1/F2: 100 μl 15.63 pg/ml Standard
G1/G2: 100 μl 7.81 pg/ml Standard
H1/H2: 100 μl 0 pg/ml Standard (Standard & Sample Diluent)
A3/A4: 100 μl Sample

Result Analysis
1. Double-wavelength detection was performed with a microplate reader, and the OD values at the main wavelength 

of 450 nm and the reference wavelength of 620 nm were determined. The OD value is the OD measurement at 450 
nm minus the OD measurement at 620 nm.

2. Calculate the average OD value of duplicate wells of the standard, then subtract the blank value (average OD 
value of the 0 pg/ml standard) to obtain the corrected value for the standard. Taking the concentration of the 
standard product as the abscissa and the OD correction value as the ordinate, the standard curve was generated by 
linear regression or the four-parameter method.

3. Calculate the sample concentration from the sample OD value and the standard curve equation. If the OD value of 
the sample is higher than the upper limit of the standard curve, it should be re-measured after appropriate dilution, 
and the corresponding dilution should be multiplied when calculating the concentration.

Reference Data
A standard curve needs to be established with each assay, and the following data are only for demonstration 
purposes.

Interpretation of the results of the standard duplicate wells: In the above table, the average OD value of the two 
duplicate wells of the 0 pg/ml standard is (0.031+0.028)/2=0.0295, and the correction value is set as 0. The average 
OD value of the two duplicate wells of the 500 pg/ml standard is (2.192+2.187)/2=2.1895, and the corrected value is 
2.1895-0.0295=2.160.






